> 120}7?

Z ~ Pt

I

NI |

N

CRET I EE )

(= Ddgd it

%?JSE\'% ’15“.1'11 ;

NN S

s Rt o
S PEE P Y
NRE Ak SEIN

KWL EZ P 10p £%F (=) F

L)

IMF e T Flaeugde | T4

112 & "5l Fpes | BER 6T F

Y Rt FEED &R
> FAp gV s o

T R T R

PP EY BT HEHR
2112+ 12 % 18 p 43 113 &1 % 26 p ok » & p TpF3 22 P -
https://adl. edu. tw/hero/

> /r'f"' LFLE'J :

REEVEE

(— Ve iEiE 3
(Z)FE&RLFE
A4 Tk i
B A ehA i
(Z)*=% ﬁiﬁiﬁf

vOE B e

PN ﬁﬁ-@ﬂ;‘;’%/; :

BE R O~ FlaedAe T £ > R
‘g_ﬁ‘g“f‘ %ﬁ%@‘#/z EE s )353@‘

: % ELS

B REER L o
P EBESFERE
B E L

[Ei ] Hg] BRPFEEY 222
:—s"fﬁ?jﬂ“%ll%ﬁ LEaEE [FlzeFir] &
LT < AT S YA GRS S R NS S

=)

T AR

o FE IR

F 1112703300 507532 o

&I@,%‘fﬂl %?33%1%’%@%&51%‘34%‘3”*? °
%%,‘5\# A4 A FMNEY

cF Y T p AEAR

é%gﬁiﬂ%%@%?%io*
OpenlD ~ %% Z 3t 5L ~

FlH He 5

CEHY e 2 oA BREE AV
WY 2T FFEBELATHR UM ELT v 0§ E
&@wﬂ%,nﬁgﬂ%%M%bbﬁ\E&??i%
= 20 =

xR

(- ),rﬁvxﬁz»;:‘%ﬁﬁw SEREEAR R R T [Ea M g] BEFEFY En 0 =4
AR FerTed [Ei ] Fg] 45Tl
ERY R AR E i ir R
¥ - & Bog Al eag PR 2044 [Faeh 4 2]1 B2 K3k 54
(12/18~- Bp MR SR 2044 | [Fuha 2]l BE LD
12/24)
¥ - i B - L R < AN [Faemar 111 B2 £7% 10 4
(12/25- R E LR S = [Taefh4r 111 B2 &% 10 &
12/31)
EHE S B eRF #2008 | (24257 2]1 B2 Kbk
(1/1-1/7) B P e AR 204048 [ [24262]1 B2 &bk
e %o W L E YRR D X [2A2m1]1 B2 £% 104
(1/8-1/14) | =& p A4 5 3L5E 5 = [Z 4ok 1]]l B2 &% 104
¥31% Bl Fl e F PR 20 248 | [FolHis 2]1 B2 Hok 5

1


https://adl.edu.tw/hero/

(1/15-1/21) | g FlH s #2800 20 245 | [FaedHes 2]1 B2 &34 5k
B T ERE PR 20 44 [T aehtisr 2]1 B 2 %3k 5 4c

B FlH e AR 20 A4 | [TaEsHRA 2]1 B2 S35

¥ i % % BB LB LSRR 5 = [ BFraepdisr 1]1 B2 &% 10 4
(1/22-1/26) | =% 3> f 3250 5 = [ Foehtsa 11 B2 2% 10 4
23 REE L E AN D = [Baemtsisr 1)1 B2 £% 10 4«

%A p RALE IV B & [Faeptis 111 B2 2% 10

COBRIFESFAE S apm [(AeTuF] RIFTE7 RO SFAR -

%}]ﬁ,‘—; X &P - = [z Faes ) %Tinpﬁj%f 2}%;‘%@7
R % £% 14

(':_)}%4?:;#& ﬂg% PP ErEsFERE SR 2F 2L [Flael Ff@?]%
EARNES AR GRS %i#k?}"}%{‘-‘ﬂpﬁflﬁ’

S #rER
% 1-10 & Lv.o 245 ® — BAL L%y
% 11-50 ¢~ Lv.4 2 %5 % — Jpgaeis
% 51-200 & Lv.3 2 45 B — R i
% 201-500 % Lv.2 2 % 5 B — Jitfihpte 55
% 501-1000 % u14#ﬁ$——@ﬂ#%g
$F# (%1001 £15) AB R — AR
CI=N SRR SRS %E’%%%ﬁé#“* PRt oL TRRLFHA
IFFT R AP LR

Apd - R @R
*E\ﬂ}:é] f”{ ’ ‘*{f‘rﬁ ]"";I-—)—B"/}J ;ﬂfﬁ’

(Z )k @ d F7 74t 2 BB FRZH AR R FE =g e ~ B~ B

()P B A ?a‘in}%’-;ﬁé v e R Ed 2B A ?7}»’ W ERARR Y 2R > X TR A
TR 2 AP bR £ 2 R

(I)AZEB g r iy ﬁwwaw»ﬁ%ﬂ’ﬂ%%ﬁ“ CEESE = B
A P ;}Eg}%,,\,@&%?f‘ \J’ﬂ“i/ ?FI;\%@?}/{}FI—?{QF

(Z)FF AE - FUMBERAL TP ;Iz;; : (06)213—0669 A 251 > T 163083 -
63082 -

TN RFET LA AEE 2R O ORFHE IR TR RS R
2

=4

s
S
=1
_%‘



